H & 0l & AHS B Ml A

20238 =0ila eI S
A SAITHAE D
B DREHUH(REUNAWL/ N HLEA)
Rl oDEEHAIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 15,554,544 23,322,120 NT,767,576
= 4,671,000
== 1,307,300
Al 9,576,244
NAD LM (SELXANL/XNALEAI) 15,503,144 23,254,400 AT,751,256
= 4,671,000
< 1,307,300
Al 9,524,844
oL ALY 1,854,144 1,686,000 168,144
= 273,000
== 750,100
Al 831,044
LMY 2 28,144 272,000 A\243,856
201 2= 15,144 9,000 6,144
01 AtR2t2lt] 9,144 3,000 6,144
oget=ZH| 3,000,000& 3,000
O=EH| 8,000&x16H x4« 123 6,144
02 S3=gl 6,000 6,000 0
OLESLHENLAIY A= SR
= 6,000,000 6,000
202 04| 10,000 10,000
01 =LHOLI 10,000 10,000
OZ2E&0H 10,000,000 10,000
203 HR=H] 3,000 3,000
03 A=A R =NH] 3,000 3,000
OXNSIHETAY g2
3,000,000& 3,000
Az egdst 420,000 309,000 111,000
[ 273,000
= 35,100
Al 111,900
207 ARl 20,000 20,000
01 H2E4H| 20,000 20,000
OHSEEDS)| BEAE AME 2
20,000,000 20,000
307 21201 & 400,000 309,000 91,000
[ 273,000
= 35,100
Al 91,900
05 212t =S 400,000 309,000 91,000
OATZTSEZ A 390,000,000 390,000
[ 273,000
= 35,100




SA: SAITHA D
M xR
ool REwH
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>
12
=
T
~
e
12
He
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DS LA (St ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 81,900
(OFEFd PNFEENESEage: 10,000,000 10,000
SEAIE X2 306,000 905,000 599,000
201 =3 6,000 5,000 1,000
01 At2t2ltl 6,000 5,000 1,000
OZ32AtY EIHitE S HIE
6,000, 0002 6,000
401 Al&EI L2 CHE] 300,000 900,000 600,000
01 A& 300,000 900,000 600,000
OHIE - B HHIAY(ZRAY AET|
) 300,000,000 300,000
A EETHA 28| el REAIY (HEALY) 1,100,000 200,000 900,000
< 715,000
Al 385,000
401 AlEHIZL S0 1,100,000 200,000 900,000
= 715,000
Al 385,000
01 Al&HI 1,100,000 200,000 900,000
OAE =i 28t Hel ZEA(HE)
1,100,000,000& 1,100,000
= 715,000
Al 385,000
AR 4,830,000 9,056,400 N4,226,400
ZETHASE (SAADIIE, 2HIXIH) 400,000 2,225,000 A1,825,000
201 2= 41,000 31,000 10,000
01 At22t2lt] 26,000 26,000 0
OME=TE S HA4E, 82Altzg M=,
FoUgoN =24 26,000,000 26,000
2 s5=34l 15,000 5,000 10,000
O&AETE TAITHHAIY S22
15,000,000 15,000
207 ARl 14,000 0 14,000
01 ARSI 14,000 0 14,000
OXIHAZ2ATIAI L S/WALS
14,000,000 14,000
307 elztol & 30,000 100,000 A70,000
02 LB HAHE L 30,000 100,000 70,000
O&AETE TAITHHAIY B2 A
30,000,000& 30,000
401 AIZHIX S0 300,000 1,994,000 21,694,000
01 A28l 300,000 1,994,000 1,694,000
OYMEAE TAIHHA
300,000,000 300,000
405 KHaHE SH 15,000 100,000 /85,000




2A:

S AIRH A4 D

Hr: DEHUH(REUNAWL/ N HLEA)
el TAITHA (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 15,000 100,000 85,000
OAIZAIHN HE BIIF S 7
15,000,000& 15,000
ZETHUSE (S A E, RHHTHR) 780,000 1,651,000 /871,000
101 21A4H| 100,000 75,000 25,000
04 JIZtN2Z2 XS 100,000 75,000 25,000
O AITHAXIZME JI2HH 22X+ 2124
100,000,000& 100,000
201 Ler23 | 40,000 18,000 22,000
01 At2t2ltl 30,000 10,000 20,000
OZAMNEXHHE 2SI
30,000,000& 30,000
02 S3=gl 10,000 8,000 2,000
OZAIMAXZHEH SS5234|
10,000,000 10,000
401 AIEHIZ SR OHYI 640,000 1,558,000 918,000
01 Al&HI 640,000 1,558,000 A918,000
OIS TAIHAAS
640,000,000 640,000
ZE M (FAXXZE, 2HIX) 500,000 3,780,400 A3,280,400
101 @124H| 85,000 85,000 0
M IIRINZENSES 85,000 85,000 0
OZAIHAXIHHES JI2HH 22X+ e124]
85,000,000 85,000
201 fer= 3| 25,000 25,000
01 At 2|l 20,000 20,000
OAEFTIE s B34d, 82Xtz ME,
FoEEN 22 20,000,000 20,000
2 S5=24g4l 5,000 5,000 0
ONAEGIRA, SEARLIEIHE 2323
2 A2 EHI= XY 5,000,000& 5,000
307 el2to| & 276,000 340,000 64,000
02 2IZHBYAIHE A 276,000 340,000 64,000
OFLNASZAIY, A2 A2 A
276,000,000 276,000
401 AIEHIZ SR 0HYI 114,000 3,330,400 A3,216,400
01 Al&HI 114,000 3,330,400 23,216,400
Otg=e TAITHUAL
114,000,000 114,000
SANTHAHAL (F=AXIXAE, KEHTHE) 2,900,000 1,400,000 1,500,000
401 Al HIZ S 0HbI 2,900,000 1,400,000 1,500,000
01 Al&H| 2,900,000 1,400,000 1,500,000
OoL=g TAIMHMAY
2,900,000,000& 2,900,000
SATHY mEAY B2 29 250,000 0 250,000




S AIRH 41t

M NGDEUH(IELX
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A (2 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 250,000 250,000
01 Al&H| 250,000 250,000
OZAIMY FEAE 3
250,000,000 250,000
SEHE 5,862,000 3,613,500 2,248,500
[ 2,191,000
= 281,700
Al 3,389,300
LS MOENLAIE AIEE 2l 80,000 50,000 30,000
401 A& HIX R0 80,000 50,000 30,000
01 AlZH| 80,000 50,000 30,000
OLESAHENZAIY AIE= 2cl
80,000,000 80,000
o2l DI=HSIIAE 500,000 0 500,000
401 A2 HIRL R 0HHI 500,000 0 500,000
01 Al&HI 500,000 0 500,000
Ood2l1el 0=2SIIAM
500,000,000 500,000
=2 0IS2SIIAE 500,000 0 500,000
401 AlEHIKL =] 500,000 0 500,000
01 Al&H| 500,000 0 500,000
O==2 UI=2=JIAE 500,000,000 500,000
St MIS2SIIAE 500,000 0 500,000
401 AlZHIZ SO 500,000 0 500,000
01 A28l 500,000 0 500,000
Osst IE2=IIAME 500,000,000 500,000
8] ] ==l =W P e 500,000 0 500,000
401 Al HIZL 201 500,000 0 500,000
01 Al&HI 500,000 0 500,000
Out0t DtSSIIALE 500,000,000 500,000
SIE| DISEHSIIAIY 500,000 0 500,000
401 AIEHIZ SO 500,000 0 500,000
01 Al&H| 500,000 0 500,000
O2%El OI=2SIIAE 500,000,000 500,000
STAEHSHAAEY 2,194,000 1,449,500 744,500
[ 1,470,000
= 189,000
Al 535,000
101 @124H| 94,000 49,500 44,500
MU IIRINZZENSES 94,000 49,500 44,500
OXEHFTA JIZHH 22kt 2121]
94,000,000& 94,000
307 212+01™ 850,000 0 850,000




2A:
X XH -
o e

=aak
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SA - BE - SRA(SIH) - AIRAY -
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Ofl &F2H

MEE
Ofl &k2h

SAREY

=

595,000
76,500
178,500

OUHANE &t AFLXIA(SWNS)

50,000,000

800,000,000&

SRR

=

Mo

=

50,000
50,000
35,000
4,500
10,500
800,000

800,000
560,000

72,000
168,000

50,000

800,000

401 Al HIZL S 0HYI

Mo

1,000,000
700,000
90,000
210,000

1,400,000

A400,000

01 AlZHI

OsE A3 ZAMY

= =2

|
=& AEE BAAY

993,700,000&

6,300,000&

Mo

=

Mo

=

993,700

993,700
695,590
89,433
208,677
6,300
6,300
4,410
567
1,323

1,400,000

A406,300

6,300

402 ",

ra
&

0l

[

=
ry

SRR

250,000
175,000
22,500
52,500

250,000

02 RIENZASEZ (01 THR)

OUHANE & AFLXIA(HWS)

250,000,000 *1CH*100%

SRR

=

250,000

250,000
175,000
22,500
52,500

250,000

SRR

1,030,000
721,000
92,700
216,300

914,000

116,000

401 AIEHIZ 20

1,030,000

914,000

116,000




2A:

S AIRH A4 D
gt

M NG ELM(IELXNAMNL/XHLTAI)
ol SENE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 721,000
=S 92,700
Al 216,300
01 Al 1,026,292 914,000 112,292
O=SH J|I=dENE A
1,026,292,000& 1,026,292
= 718,404
S 92,366
Al 215,522
03 Al 20HHI 3,708 0 3,708
O=3Y J|=dEaHd LA
3,708,000 3,708
s 2,5%
s 334
Al 778
s g 58,000 0 58,000
101 @124H| 48,000 48,000
M ORIMZZ2NSE S 48,000 48,000
OSZUHANAXA 2 2
2,666,666% *3H 62 48,000
201 eer23| 9,000 9,000
01 AtR2t2|HI 5,000 5,000
OsUNAXA 24| 5,000,000& 5,000
02 s3=gHl 2,000 0 2,000
OSUNAXZE 2323 2,000,000 2,000
03 A2 I 2,000 0 2,000
OXSggdst MY 2 2,000,000& 2,000
301 LEtE NS 1,000 1,000
11 dALEBIXNIZE S 1,000 1,000
OXIHH2Ast AL A BA
1,000,000& 1,000
SN 2,847,000 3,172,800 325,800
[ 2,207,000
= 275,500
Al 364,500
TN AlEE FA2c 79,000 49,000 30,000
101 @12A4H| 30,000 20,000 10,000
04 JIZtN22 XS 2+ 30,000 20,000 10,000
O=AM AME= =g 2l 30,000,000 30,000
201 et 3| 19,000 19,000
01 At22t2l] 10,000 10,000
oggt=ZH] 10,000,000 10,000
2 352484l 9,000 9,000 0




2A:

S AIRH A4 D

Hr: GDHUH(REUNAHL/ N HLEA)
Sl SAHY (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=MIHNEANSY SER= 9,000,000& 9,000
401 AIEHIX SO 30,000 10,000 20,000
01 Al&H| 30,000 10,000 20,000
OFAN A= =A2c 30,000,000& 30,000
Al 2& X LAY 1,272,000 816,400 455,600
[ 1,018,000
= 127,000
Al 127,000
401 AIEHIX R0 1,272,000 816,400 455,600
[ 1,018,000
= 127,000
Al 127,000
01 Al&H| 1,268,000 811,300 456,700
Otl= 22X =4 1,268,000,000& 1,268,000
= 1,014,800
< 126,600
Al 126,600
03 Al 2CHYI 4,000 5,100 1,100
Otl= 22X =4 4,000,000& 4,000
= 3,200
S 400
Al 400
e 22X gAY 761,000 1,611,400 850,400
= 609,000
[ 76,000
Al 76,000
401 Al HIZL 201 761,000 1,611,400 850,400
s 609,000
== 76,000
Al 76,000
01 Al&HI 757,000 1,605,600 848,600
OXlE 22X =4 757,000,000 757,000
= 605,800
= 75,600
Al 75,600
03 Al 20HHI 4,000 5,800 21,800
OdlE 22X =4 4,000,000 4,000
= 3,200
= 400
Al 400
A Ae=EE AEAMY 625,000 125,000 500,000
= 500,000
S 62,500




A SAITHAE D

Hr: GDHUH(REUNAHL/ N HLEA)
Sl SAHY (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 62,500
401 AIEHIX 20 625,000 125,000 500,000
[ 500,000
= 62,500
Al 62,500
01 Al&H| 622,000 124,100 497,900
OAE MeI=PT A
622,000,000 622,000
[ 497,600
= 62,200
Al 62,200
03 AIZSTHYI 3,000 900 2,100
OAE MQI=YT A
3,000,000& 3,000
[ 2,400
= 300
Al 300
golg AL = 10,000 10,000 0
201 ger=3| 10,000 10,000
01 At 2|l 10,000 10,000
OR8] Mol BAF EHRA A
10,000,000 10,000
Ot 22X 245t A 100,000 0 100,000
s 80,000
== 10,000
Al 10,000
401 AIEHIZ SR HYI 100,000 0 100,000
= 80,000
= 10,000
Al 10,000
01 A28l 99,100 0 99,100
OOtz 2& X 243t A
99,100,000 99,100
[ 79,280
= 9,910
Al 9,910
03 AIESTHYI 900 0 900
Olt 22X 2d3t At 900,000 900
[ 720
S 0
Al 0
SADRE 110,000 5,725,700 A5,615,700
== W22 uxz i 100,000 2,000,000 1,900,000
401 AIEHIZ SR OHYI 100,000 2,000,000 1,900,000




2A:

S AIRH A4 D

M NG ELM(IELXNAMNL/XALTAI)
Sl SADHY (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At 100,000 2,000,000 1,900,000
OFS (22 Xz I
100,000,000 100,000
AEICEERSSHHA gAY 10,000 10,000 0
201 Zet=3h] 10,000 10,000 0
01 AtR2t2|HI 10,000 10,000 0
OAMICE=EtRrSHEHA ZEAE
10,000,000 10,000
HY2HZHI(SAITHA D) (DI1EHDIE}) 51,400 67,720 16,320
=3t 51,400 67,720 16,320
Jl=23H] 51,400 67,720 /16,320
201 eer23y| 7,000 7,000 0
01 AtR2t2|HI 7,000 7,000 0
(@)= pagestall 7,000,000& 7,000
202 04| 40,800 57,120 16,320
01 =LHOLI 40,800 57,120 216,320
OZHEHNOH 200,000 x17E 128 40,800
203 HR=H] 3,600 3,600
M EA2HER=AH 3,600 3,600
ORNEgE =AY 300,000& * 122 3,600




